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Anna Bohnstedt and Christian Schwarz1

Strategic Technology Investments

in Open Economies

Abstract
We study a general equilibrium model of international trade with heterogeneous 
fi rms, where countries can strategically invest in technology. The countries’ motive 
is to improve fi rms’ productivity, leading to a competitive advantage in international 
trade. We are interested in how trade liberalization aff ects this governmental incen-
tive to invest in technology. In the closed economy countries invest if consumers 
have a suffi  ciently high preference for varieties. In the open economy we analyze 
the Nash-equilibrium policy and the cooperative policy. If there are no cross-country 
investment spillovers, countries strategically compete in their investment levels and 
increase their investments with higher trade openness. From a social perspective we 
have an overinvestment problem. If there are cross-country investment spillovers, 
we diff erentiate between weak and strong spillovers. In both cases the cooperative 
solution predicts a positive relationship between investments and trade openness. 
If there are weak (strong) spillovers, we fi nd a positive (hump-shaped) relationship 
between technology investments and trade openness in the Nash-equilibrium. From 
a social perspective we obtain an over (under)-investment problem if spillovers are 
weak (strong).

JEL Classifi cation: F12, F13
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strategic trade policy
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����

��� ���������	� 	� ��� 	��� ��	�	�� �"
�
����
�� �	 ������ ��� �� 
�� ��� ��������� �����

��
���� �	�����	� �	� �	
���� 1�

M1px1rx1 (ϕ̃x1) = M2px2rx2 (ϕ̃x2) + (1− t1 − β)− (1− γ1) . �#$�

��� %&' 	� ��� ����� ��
���� �	�����	� ���	��� ��� ��

� 	� �	
���� 1(� ���
����
����

���	���� ��� )&' 	� ��� �"
���	� �	������ 	� ��� ���
����
���� ���	��� ��	� �	
���� 2

���� �� ���
����
���� ����� �� �	� ��
����� ������� �	�� �	
������� ��� ��� ���	��� 	� ���

�
������� ������������ �� ��� �
� 	� ��� ���	�� ��� ����� ���� 	� ��� )&'�� *�������

* ��	��� ���� ��� 
��	� ����� �

	����� �	 ��� ���
����
���� ����	� �� �	
���� i = 1, 2 ��

����� ���

γ1 = β

(
1− 2φχ

1− φχ
+

φ

χ− φ

)
+ t1 ��� γ2 = β

(
1

1− φχ
− φ

χ− φ

)
+ t2. �#+�

��� �"
���	�� �
���
� ��	� ���� � ������ ��� ���� ti ��������� ��� ����� 	� 
��	� �

	�����

�	 ��� ���
����
���� ����	�� ���� �� ����
�� ��� 

��,�
� ��� ���
��� ��� �	��
����	�

	� ��� �
������� ��� ��������� ��� �����
� ��	�
�������� *��
�-��� �#+� ��	�� ����

γ1 = γ2 = β + t �� �	
������ ��� ����������
 ��������� ����� �����	
	�� 
���
 �χ = 1� ���

���� γi = β + ti �� ����� �	��� ��� ��	�������� �φ → 0�� .���
�� �� ���� �	 ���
�� ����

��� �
������� ����	� �� ���

 ������ ����� ������ �� ���� �	 ���	�� ��������� ���������	��

�
�� ���� 0 < γi < 0 �	� i = 1, 2� ����� ��� ������� �	�� �� �������� * �� �����
�

����� ���������	�� ��"
��� �����	
	�� ����������� �	 �� �	���� ��
����� �	 ����� 	�������

��� ���,������ ���
����
���� ��������
�� β ��� ����� ti �	 �� �
/�����
� ���

� 0����

γ1 ��� γ2� �� �� �	� ���������	����� �	 ������ ��� �"
�
����
� ������ 	� ��������� ME
i �

�
������� �	������  ���� Mi� ���	����� �	������  ���� Mxi� ��� �	��
��� ���������� Mti =

#+



Mi + Mxj� ��� ���� ��	
����
� ��� ����� �
��� �
 ��� ���
 ���
��� �
 ����
 �� Pi =

M
1/(1−σ)
ti / (ρϕ̃ti)� ����� ϕ̃ti �
 ��� ������� ����	������� ���
� ��� ������ ���
 �
 ������ i�

��
����� �
������ 	������ �
 ��	
��� i ��
 �� ������
 �
�

Vi = y + β ln ϕ∗i +
β

σ − 1
ln L + κ1, �� !

����� �
 ���������
�� �� ��� ����
��� �	��" ����	������� ϕ∗1�

� ��������	
 ����
�����
 ������� ���������


#� 
�� �	�
 �� ��� �������
����
 �� ��� �
����
�	
 ����
����� �
��
���
�
� #� �
$


	�� ���� ���� ��	
����
 ���� ��� 
��� �
� 
������%�� ����
����� ����� �� ����� ��� 
�

�
��
���
�
 �
 �
� ��	
���� #� ��
� ���� ���� ��� &�
�$�'	������	�� ����� ��
	��
 �� ����

��	
����
 ������ 
�
$�������������� ������ �����

�
� ��� ��
� ����� ���� �������������


�� ����� �������
� ��� �
���� �
� �
��
���
� ����� �
 ��	
��� i ��� ��
���� �� Ti� (
��$

���	
 �� ��� ���
�� ���
��� ��� �����
��
� �
 ��	
��� i �
��
�
 Ti �
� ��� ����
�����

����� �
 ����
 �� H (Ti)� ��� ��
��	� ����	������� ���� �
 ��	
��� i �
 ����
 ���

ϕMIN
i = exp {H (Ti)} . ��)!

(� ���
 ���
� �� �

	�� ���� ����
����� �
��
���
�
 �
 ��	
��� i �� ��� �"��� ��� ��
�$

�	� ����	������� ���� �
 ��� ����� ��	
���� *�
��� ����� ��� 
� 
��������
 �� ����
�����

�
��
���
�
 ����

 ��	
����
�

��� �����	
��
������ ��
���

������� �� 	
����
 i �� ����� �
�

Vi = 1− Ti + β ln ϕ∗i +
β

σ − 1
ln L + κ1 = 1− Ti + β ln

(
ϕMIN

i

(
χ̄

χ̄− φ

)1/k
)

+ κ3, ����

��



����� χ̄ = ϕMIN
j /ϕMIN

i �� ��� ���	��
� �����
�
�� 	�� κ3 = κ2+
β
k

ln (1− φ2) �� 	 �
���	�����

��� ������	�� �
�����
� �
� 	 ����	�� 
������ �� ��� ��� ��
�� ���

∂Vi

∂Ti

= −1 + βH ′ (Ti) +
φβH ′ (Ti)

(exp {H (Tj)−H (Ti)})k − φ
= 0. ����

 � �	� �� ��
�� ��	� ����� �!���� 	 ��������� "	��#�$��������� �
���� ���� ��	� �
��

�
������� ��� ��� �	�� �	! �	�� T = Ti = Tj 	�� ��� ��� ������%�� �
�

��� = −1 + βH ′ +
φ

(1− φ)
βH ′︸ ︷︷ ︸

����� �����

= 0. ��&�

 � 	������! ' �� ��
� ��	� ���� "	��#�$��������� �	���%�� ��� ���
��#
���� �
�����
� �
�

	 ����	�� �	!����� (���� �$�	��
� ��&� �� �	� ���	��� ������	���� ��� ��)����� �)����


� ������ ��
�������� �� �����
�
���  �
�������� T �����	�� ��� ����#��� �	!* �����

�	� 	 ���	��
� �	����	� ���� ����	�� ������� +
��
��* ���� 	��
 �����	�� ��� �������

��
�����
���* ������ ��� ���
) 	�� 	
��	�� ��
�����
���* �����	���� ��� ����� ����!* 	��

	� ��� ��� �����	���� ����	��� ,� �
��������� ��� ���* ��� �
����
� �)��� 
� ��
��������

�� �����
�
�� �	� �� ����� ���
 ��
 �	���� ��� 	���	�� -�
�� �)��� βH ′ �� ��������� ��

��� 	��	�-� �	�� 	�� ��� ��� .��	�� �)���/ φβH ′/ (1− φ)� �
 ��
��
� ��
�
��� �������
�

�
� ��� ��	�� �)���* �
������ 	 ����	��
 �� ����� �
����� 1 ��
���� �� �����
�
��* �����

�
����� 2 �
�� �
�� +���� �
����� 1 �� ��� ��	���� 	�� �
����� 2 �� ��� �	��	�� �
�����

�� ����� 
� �����
�
��� ��� ������ �
����
� �)��� 
� ��
�������� �� �����
�
�� �� �
�����

1 �� ��	� ���� �����	�� ��� �
������ ���
) ϕ∗1� ��������
��* ���� 	��
 �����	�� ��� �
�����

���
) ϕ∗2� +����* ��
�������� �� �����
�
�� �����	�� 	 ���	��
� ��
��#�
����� �!����	����

�
 �
����� %���� �
�������� ��� �!�
�� �	�-��� �� �� �
� �	���� �
� �
����� 2 %��� �


���
� �
����� 1* 	�� �� �� �	���� �
� �
����� & %��� �
 ���
� ��� �
����� �	�-�� �
����� 2�

ϕ∗x2 > ϕ∗x1� ��� �
��	�	��
� 	�
	��	�� 
� �
����� 1 %��� �� ���
��� ��� �
����� �	�-�� ��

�
�� �
�� ���
��	��* ��� ������ ��� ��
%� ��
� ������	��
�	� ��	�� ��* ���� ��� ������ ���

��	�� �������� φ ��� ���� �)��� ����
�� ��� ���	����� �������
� �
� �

�������� �
 ��
��� ��

�����
�
��� ��� ������ ��	�� �������� ��* ��� ������ �� ��� �

��������0 �������
� �
 ��
�

�
������ %��� 	 �
�������
� 	�
	��	�� �� �
�������
� ���� �
����� %���� +����* ��	��

�����	��1	��
� ��
��� �����	�� ��
�������� �� �����
�
��� �
 ��� ���� 	�	�����	���* ��%��

������� �� ��	� 
� ��
��� 
��
 ������
�� ��� 
� �� �����
 ����
�	� 
� 
���� �
������� ������ χ̄ > φ�

&2



0 1
T

ΒH'��1�Φ�

Φ�0 1Φ�0.5

TAUT� TTRADE�

������ �� 	
���
� ���������� ����� T ∗ ����� 
��
��� 
�� �� ��� �
�� ������� �������
�
��������

ζ = βH ′/ (1− φ)− 1� 
�� ��� ��� ��
����� �������� ������� �� �������

∂T

∂φ
= −∂ζ

∂φ

(
∂ζ

∂T

)−1

= − H ′

(1− φ) H ′′ > 0. ����

������ �� �
���� ����!���� 
����� ������� �
��������� "�
�� ��!��
��#
���� ��
�� �� ������

����������� �� ����������$��

������ � �������
��� ��� 
��
��� � ����!���� 
�� ��� �
�� ������� � ����!���� �������

�
��������$ %� !��� �
��� ��� ���� ����
�� !����� �� �����
�� ���
� ����� ����� ��� �����
��

��� ��������� ������ ��� ����
�� �����
�� ��� �� 
 ������ ������� 
�����������$ &� ���

���

����� !������ ��� �
���� ���� �
��
���� ���� ��� !�
�� ����� ���� ��
�� �������

���� φ = 0.5� ������ ��� �
���
� ���������� ����� ����� 
��
��� �� ����� ��
� �� ��� �
��

�������$

���� �������	�
 �
���� � ��
���
� ��
 �������
� 
�	���
� �
� H =
√

T � ��

 �
 �	�
 H ′ = 1/
(
2
√

T
)
�

�����
� H ′ = (1− φ) /β ��� ��
 �����	� �	� �	�
 �
	�� �� T ∗ = β2/
(
4
(
1− φ)2

)
�

'(



��� ������	
��� 
�����

��� ������	
 ��	 ��	�

��� ��	
	 �����
�	� ����	

���	�� �	� ��	�
 ������	�� ����� �	��

	

Ω �� ���� �����
�	� �� ���	� ���

Ω = V1 + V2 = 1− T1 + β ln ϕ∗1 +
β

σ − 1
ln L1 + 1− T2 + β ln ϕ∗2 +

β

σ − 1
ln L2 + κ4, ����

��	
	 κ4 = 2κ1 �� 
 �����
��� ��	 �	�	��

� ��������� ��
 
 �	��

	 ������� ��
 �����
�

1 �� ���	� ���

∂Ω

∂T1

= −1 + β

(
2 +

φ

exp {·} − φ
+

1

−1 + exp {·}φ

)
H ′ (T1) = 0, �� �

��	
	 ��	 

���	�� �� ��	 	!���	���
� �������� �� ����
	��	� �� �������� ���
���� 
��

���	� �� exp {·} = exp {k (−H (T1) + H (T2))}� "�
 �����
� 2 ��	 "#$ �� ��	 ����������

∂Ω

∂T2

= −1 + β

(
− φ

(exp {·})k − φ
+

1

1− (exp {·})k φ

)
H ′ (T2) = 0, ��%�

��	
	 ��	 

���	�� �� ��	 	!���	���
� �������� �� 
�
�� ����
	��	� 
�� ���	� �� exp {·} =

exp {−H (T1) + H (T2)}� &������� T1 = T2 = T ��	 �� ����	�
� ��	��� ��	 ������'	�

"#$ 
� ��������

"#$ = −1 + βH ′ = 0. ��(�

������ �� $���	

���	 ������ ������� �������	
�� ��	 ����	

���	 �������� �� 	)���
�	�� ��

��	 
��

*� ������� �

�	 ���	

��+
���� �	
�� �� �� ��
��	 �� ��	 ���	���	��� �� �	��������

����

	� �� ��	 
��

*� �
�	�

&� ��	 �
��,	)�����
��� ������ �

�	 ���	

��+
���� �	
�� �� ����	
 ���	���	��� ����

	� ��

��	 
��

*� ��	�

��� 
�� ���� �� ��	
,���	���	��� �� �	�������� �
�� 
 ����
� �	
��	����	�

��	 	������� ��������� �� ��

������
�

�� �	�������� ���	���	��� �	
� �� 
 �	�
���	

�
���,�����
� 	!�	
�
���� ��
� �� ��� �
*	� ���� 
������ �� ��	 �
��,	)�����
��� �������

���� �	�
���	 	!�	
�
���� �� ���	
�
��+	� �� ��	 ����	

���	 ��������� 
�� ���� �	
�� ��

���	
 ���	���	��� ��
� �� ��	 �
��,	)�����
��� �������
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 ����
�����
 ���� ���������


�� ��� ����	 
�� ��
���� ���
���
��� ����
�
��� 
��
 
��������� �����

��
� ������ ���

���
 
�� 
���
�
 ������
���
� �� 
�� ��
� ����
��� ��������
� �� ����
� 
��
 ��
�

�����

��
� �� 
��������� ���� ������
� � ��������� 
� 
�� 
���
�
 ������
���
� ���� ��


�� ������� ����
����� ����� ��� �� ��
������ ���
��� ������� ��� 
���� ����������
��� �
�

���
� 
�� ����������
 ��
��
�� ��� ������
��
 �� ����
�� i �����
� Ti ��� 
�� 
���������

����� �� ����
�� i� ������� �� ��
� �����

��
�� �� H (Ti)� �������� 
�� ������� 
�������

��� ����� �� ����
�� i �� ���� ����
����� � ��
�� �� �����

��
� Tj �� 
�� ������� ����
��

j� ��� ������� ���
 �� 
��������� �
�����
��
 �� ����
�� �� F (Tj)� !��� �� ����
���� ���

����
���� ��
� ������
 
� ����
�� ���� ��� 
�� ��
��� �� �����

��
�� ��� ��
�
��� ������

��� � ������
��� �� 
�� 
��������� �
������� �
���
 �� ��
��
�� ��� ������� �����

��
� ��


���������� "�� ��
� H ��� F �� ����
� 
��
 �����

��
� �� 
��������� ������
� ����
���

��
 ���������� 
������� ��
����� ���
����#

H ′ =
∂H

∂Ti

> 0 ��� H ′′ =
∂H ′

∂Ti

< 0� F ′ =
∂F

∂Tj

> 0 ��� F ′′ =
∂F ′

∂Tj

< 0.

��� 
���
�
 ������
���
� ���� �� 
�� ��
� ����
�� i �� ����� ��#

ϕMIN
i = exp {H (Ti) + φF (Tj)} $%&'

��� �
 �� ����� 
��
 
�� 
���
�
 ������
���
� ���� ��� ����
����� ������� �� ��
 ����


�� ��
� �����

��
 ����� Ti ��
 ���� �� 
�� �����

��
� Tj �� 
�� ������� ����
�� j� ���

�
���
 �� 
�� ��������� φF ��������� �� φ� ����� �� �������� 
���� �������� φ �� � �����


������ �� �����
�� ��
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���� ��� ��������� �� 
��� 
��� ����������� 
�� 
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����� �� 
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��
� �� 
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�� 
���
�
 ������
���
� ����� 
��� �� 
�� ������� 
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������
���
�� �� ��(�� Δ ≡ H ′−F ′ ��� ���� 
�� 
������ ���� �� Δ > 0 � )���* ���������+�
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��� ������ �����
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� �� �����
��� 
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��� ���� 
�� �� 
�� ����� ��� ���
����� �� ��
�

����� ���� ��� 	
����
	�� �
��
	���	�
 �	��
���
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 �����	 	� ��
���� ����	
��� 	��� 	� ���� ���� �	����� ��
 ��	��	���� ��
� 	��	� ��

������ Δ < 0 ��� ���� �	 � ��	
��� ��������
��

��� �����	
��
������ ��
���

 ����
� �� ����	
� i �� ����� !�"

Vi = 1− Ti + β ln ϕ∗i +
β

σ − 1
ln L + κ1 = 1− Ti + β ln

(
ϕMIN

i

(
χ̄

χ̄− φ

)1/k
)

+ κ3, #$%&

���
� χ̄ = ϕMIN
j /ϕMIN

i �� 	�� 
���	��� 	��������� ��� κ3 = κ2 + β
k

ln (1− φ2) �� � ����	��	�

��� �������
� �����	��� ��
 � �����
� ��	���� �� 	�� �'( ����� !�"

∂Vi

∂Ti

= −1 + βH ′ (Ti) +
φβH ′ /Ti)− φ2βF ′ (T1)

(exp {H (Tj)−H (Ti) + φF (Ti)− φF (Tj)})k − φ
= 0. #$)&

*	 ��� !� ����� 	��	 	��
� �+��	� � �����	
�� ,���-������!
��� ������ ���� 	��	 !�	�

����	
��� ��	 	�� ���� 	�+ 
�	� T = Ti = Tj ��� 	�� �'( ������.�� 	�"

�'( = −1 +

�������� �	�	
�︷ ︸︸ ︷
1

(1− φ)
βH ′︸ ︷︷ ︸

����	 	
	��

− φ2

(1− φ)
βF ′︸ ︷︷ ︸

�������	� 	
	��

= 0. #/0&

*� �������+ 1 �� ���� 	��	 	��� ,���-������!
��� ��	��.�� 	�� ������-�
��
 �����	��� ��
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����� 	�� ��
����� !���.	 �� �����	���	� �� 	��������� ��� !�

����	 ��	� 	�� ��
	�� ��� ��
���� 
���� 	
��� �2��	 #��� ���	��� 3�4& ��� 	�� ��� ���������


�2��	�� 5�	� ���
���� �� 	
��� �������� φ !�	 ���� ������	� ������ *� 	�� 	
��� #��������
&

�2��	 ������	��� 	
��� ��	��
�	��� ����� 	� �����
 #����
& �����	���	� �� 	����������

(����
��� 	�� �'(� ��	� ��� ��	���	 ��������
� �� �����	���	� �� 	���������� ��
 � �����

����� �� 	
��� �������� φ� �� ��� ����
�� ��� 	��	 ��	���	 ��������
� #6��#$4&& 	�� �����	-

���	 ����� T �� ������ �����
 �� �	 �� 	�� ���� ��	� ��������
� #6��#/0&&�  �	� ��������
��

�����	���	� �� 	��������� ���� 	�� ���
��	�
��	�� �� � ��!��� ����� ���� ��	 ���� 	�� ��-

���	�� .
�� !���.	 �
�� 	�� �����	���	� !�	 ���� 	�� ��
���� .
��� ������ 	�� ��������
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� �� 	�
����

�	�� ��� ���� �� ��� 	���	�	� �����	�� ������� 
�� ζ = β
1−φ

H ′ − 1− βφ2

1−φ
F ′ �� ���	
����

∂T

∂φ
=

∂ζ

∂φ

(
∂ζ

∂T

)−1

=
H ′ + (−2 + φ) φF ′

(1− φ) (φ2F ′′ −H ′′)
. ����

 � �� 
����� 
 ��
! ��	���
��� 	��� Δ = H ′ − F ′ > 0� �� ����

∂T

∂φ
=

∂ζ

∂φ

(
∂ζ

∂T

)−1

= −H ′ (1− φ2) + Δ (2− φ) φ

(1− φ) (1− φ2) H ′′ > 0. ��"�

������ �� #
��$�%�	�	��	�� ���	�& �	�� ��
! ��	���
���� '�
�� �	���
�	(
�	�� 	����
���

	�
�������� 	� ���������&�

)����� ��� ��
! ��	���
��� 
�� �	����� ��	���
��� ���� *����� "� ��
�� �	���
�	(
�	�� ��
�� ��

�	���� 	�
�������� 	� ���������& 	� #
��$�%�	�	��	�� ���	�&� + �
���
� %����	�� 	� �������

��	� ������ 
��� ����� ��� ������ ��	���
���� ,�� �	-������&� �� 
�! ������
�� 	� ����� 	� 
 �
��

	� ��	�� ��
�� �	���
�	(
�	�� 
���
��& ��
�� �� ����� 	�
�������� 	� ���������&. /��
	��
∂T
∂φ

= 0 ��� φ ��
�� ���

φ̄ = 1−
√

F ′ (F ′ −H ′)
F ′

= 1−
√
−Δ

F ′
, ����

�	�� φ̄ < 1 	� 
�� ���& 	� Δ < 0� ��	�� �	����� 
 ������ ��	���
�� �� ���������& 	�
��������

�� ��� ����	�� ������&� )����� ��� 
 ��0�	����& �	�� ��
�� �������� φ > φ̄� 	�
��������

	� ���������& �����
�� �	�� ������� ��
�� �	���
�	(
�	��� #��� ��
� 
 ����� Δ �	����� 
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 ����� ��
�� �������� φ �	��� φ̄ �����
��� �	�� ����� Δ�

������ �� #
��$�%�	�	��	�� ���	�& �	�� ������ ��	���
���� '�
�� �	���
�	(
�	�� ���� ��
��
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�� ���� �� 
 �����
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�������� �����$��
��� ���
�	����	��� ��

����� ������ ��	� ��� ��
�� �� 
�
�������� 
� ����� 
� �	��� ����� ��
���
��� ��
�� 
� 	 ���� ����� ������ 
�
��� 
������
	� ���	�
�	�
�� �
���	���� �� 
�
�������� 
� ���� ��� ���� ������ �� !"# 	� 	 ���
�	� ����������

��$��� ��	� 
� ��� 
��	�� �� ��� ����
�� ���������% 
�
������� ��
�� 
� ����� 
��� F ′ = 0 	�� F ′′ = 0�
&'��(�# ������� �� ∂T

∂φ = − H′
(1+φ)H′′ > 0 ��	� 
� �'�

	���� �� &'��))# ���

�� 
� ��� �	�� �
����� ��
���
����

���� 
������	�� ������� " 	�� * ����
��� ��� ������
�� ��	����+ ,�� H =
√

T 	�� F = s
√

T � ����� s

� ��� �������� �� ��� ��
���
��� �����-% 0 < s < 1 ������� 	 ��	� ��
���
�� 	�� s > 1 ������� 	 ������
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 	�� �����
�	��� 
���	���� ��� $���	 �����
� ����	��� �� ��	� ����	
��
 Ω �


����� ��%

Ω = V1 + V2 = 1− T1 + β ln ϕ∗1 +
β

σ − 1
ln L1 + 1− T2 + β ln ϕ∗2 +

β

σ − 1
ln L2 + κ4, �&'�

���
� κ4 = 2κ1 �
 � ���
	��	� ��� ����

�
� �����	��� ��
 � �����
� ��	���� �
 	�� ()*�

(�
 ����	
� 1 �	 �
 ����� ��%

∂Ω

∂T1

= −1 + 2βH ′ (T1) + β

(
φH ′ (T1)− φ2F ′ (T1)

exp {·}k − φ
− H ′ (T1)− φF ′ (T1)

1− exp {·}k φ

)
= 0, �&+�

���
� 	�� �
�����	 �� 	�� �������	��� ����	��� �
 
���
�

�� 	� 
������� ��	�	��� ���

����� �� exp {·} = exp {φF (T1)− φF (T2)−H (T1) + H (T2)}� (�
 ����	
� 2 	�� ()* �


����� ��%

∂Ω

∂T2

= −1 + 2βφF (T2) + β

(
φ2F ′ (T2)− φH ′ (T2)

exp {·}k − φ
+

φF ′ (T2)−H ′ (T2)

−1 + exp {·}k φ

)
= 0, �&,�

���
� 	�� �
�����	 �� 	�� �������	��� ����	��� �
 ����� 
���
�

�� ��� ����� �� exp {·} =

exp {φF (T1)− φF (T2)−H (T1) + H (T2)}� ����
��� T1 = T2 = T �����
 	�� 
��������

()* �
 ������
%

()* = −1 + βH ′ + βφF ′ = 0. �&-�

���������	 
������ 
�� ��� ��� 
�� ��
���� 
�� ��
� ������ T ∗ =
β2(1−sφ2)2

4(1−φ)2
	 T ∗ ������� �
� ������� �


s = 1/φ2 > 1	 ������ 
���� ����
� ���� � ������� ��� 0 < T ∗ < 1 �� s > 1� ����� ������� � �
����

���������	

.'
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 ������� �
� ζ = −1 + βH ′ + βφF ′ �� �������

∂T

∂φ
= −∂ζ

∂φ

(
∂ζ

∂T

)−1

= − F ′

φF ′′ + H ′′ > 0. ����
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 φ 
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��� ���� ��� +�����#��
������ 	�
��� �� ������� ��� -.��

"# ��/� �
� "# ��0�* ���	������
� ���� ��� ����
 ���

-.����� = −1 + βH ′ + βφF ′ = 0 ��1�

�
�

-.����� = −1 + βH ′ + βφF ′ +
φ

1− φ
βΔ = 0. �2/�

3��� -.�� �

� ��)�� �
 ��� 
��� ���� �� "# �2/� ��� ���
 �� Δ ��	�
�� �
 ������� ���

�
������
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���� �� ���4 �� ����
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γ1 − t1
1 + b1

=
γ2 − t2
1 + b2

+ γ1 − β − t1
γ2 − t2
1 + b2

=
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1 + b1

+ γ2 − β − t2, �"��
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=
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∗
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ϕ∗2
ϕ∗1

)k

=
1

φ
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χ− φ

1− φχ
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=
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M1 =
(γ1 − t1)

σ (π̄1 + f + px1fx)
=

(k + 1− σ) β

σkf
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σ (π̄2 + f + px2fx)
=
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(1− φ2) (χ− φ)

ME
1 =

δM1

(ϕMIN
1 /ϕ∗1)

k
=

(σ − 1) β

σkfe

χ (1 + φ2 − 2φχ)

(χ− φ) (1− φχ)
����

ME
2 =

δM2

(ϕMIN
2 /ϕ∗2)

k
=

(σ − 1) β

σkfe

(χ (1 + φ2)− 2φ)

(χ− φ) (1− φχ)

Mx1 =

(
ϕ∗1

Λϕ∗2

)k

M1 =
(k + 1− σ) β

σkfx

φ (1 + φ2 − 2φχ)

(1− φ2) (χ− φ)
����

Mx2 =

(
ϕ∗2

Λϕ∗1

)k

M2 =
(k + 1− σ) β

σkfx

φ (χ (1 + φ2)− 2φ)

(1− φ2) (1− φχ)
.
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